Potencias de 10 (E)

61+ 10?

36 + 10!

66 = 10!

47 = 102

91 +10!

80+ 10!

910!

14+ 10!

2 =102

16 =103

Calcule los siguientes cocientes.

53+ 10!

12+ 10?

49 +10°

2103

81+10!

62+ 10°

81107

2=10!

98 +10°

79 = 10!
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Potencias de 10 (E) Respuestas

61 <102
0,61
36+10'
3,6
66+ 10!
6,6
47+ 107
0,47
91 10!
9,1
80+ 10!
8
9+ 10!
0,9
14+ 10!
1,4
2 +10?
0,02
16 =103
0,016

Calcule los siguientes cocientes.

53 +10'
53
12 +10?
0,12
49 =103
0,049
2+-10°
0,002
81 = 10!
8.1
62 +10°
0,062
81 =107
0,81
210!
0,2
98 - 10°
0,098
79 10!
7.9
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